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Who is considered as the father of

Economics ?

(A) J.S. Mill
(B) Marshall
(C) Adam Smith

(D) Pigou

The terms ‘Micro’ and ‘Macro’ are given

by the economist :

(A) Adam Smith
(B) Marshall
(C) J. M. Keynes

(D) Ragnar Frisch

The law of scarcity applies to :
(A) Agriculture

(B) A poor economy

(C) A capitalist economy
(D) All economies

Scarcity definition is given by :
(A) Lionel Robbins

(B) Marshall

(C) Pigou

(D) Adam Smith
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Utility implies :

(A) Health

(B) Pleasure

(C) Usefulness

(D) A commodity’s power to satisfy

wants

When Marginal utility is zero, total utility

is:

(A) Maximum

(B) Minimum

(C) Zero

(D) Negative

Which of the following is called as

Gossen’s first law ?

(A) Law of diminishing marginal utility

(B) Law of equimarginal utility

(C) Law of substitution

(D) None of the above
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10.

11.

Utility derived from last unit of goods is
called :

(A)
(B)
(®)
(D)

Total utility
Marginal utility
Initial utility

Zero utility

Law of equi-marginal utility is otherwise
called as :

(A) Law of maximum satisfaction
(B)
(©)

(D)

Law of indifference
Gossen’s second law

All of the above

In general, a consumer spends his income
in accordance to the :

(A)
(B)
(©)
(D)

Law of diminishing marginal utility
Law of equi-marginal utility
Consumer’s surplus

None of the above

The concept of consumer’s surplus is

given by :

(A) Adam Smith
(B)
(©)

(D)

Marshall
Pigou

Robbins
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Ordinal utility analysis was developed

by :

(A) Samuelson
(B) Marshall

(C) J.R.HicksandR.J.D. Allen

(D) Pigou

An indifference curve represents :

(A) Only one commodity
(B) Only two commodities
(C) Less than two commodities

(D) Four commodities

Indifference curve is always :

(A) Concave to the origin
(B) Convex to the origin
(C) ‘L’ shaped

(D) Astraight line

According to the law of demand, the
relation between price and demand is :
(A) Inverse

(B) Direct

(C) Positive

(D) None of the above
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16. | &7 g9 grfyd gar 2 16. Law of demand is concerned with :

(A) g |36 9 (A) Individual demand

(B) IR AT A (B) Market demand

(C) wgad HIT ¥ (C) Joint demand

(D) RS ANT A (D) Complementary demand

17. 99 AFT dlHeR Bl & o dEd o @l 17.  What is the value of price elasticity, when

T R e & 2 demand is inelastic ?
(A) To (A) Unity
(B) TP ¥ FA (B) Less than One
(C) TF ¥ Id (C) Greater than one
(D) 3 (D) Zero
18. ey 9% & forg AR &1 g @/ Bl 18. Income elasticity of demand for an
3. inferior commodity is :
(A) Y-IcHD (A) Positive
(B) RUIHD (B) Negative
(C) 3 (C) Infinity
(D) Id (D) Zero
19. I BT Ay @ 19. Production refers to :
(A) SYART BT T BT (A) Destruction of utility
(B) SR & ol BT (B) Creation of utility
(c) fafr qg (C) Exchange value
(D) SUYa H A Bl 7l (D) None of the above
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20. A Pl QDR gar e 20. Reward paid to labour is :

(A) < (A) Interest

(B) o (B) Profit

(C) "o (C) Wages

(D) oA (D) Rent

21. ANId AT BT AR BNl B 21. The shape of average cost is :

(A) THdd (A) Flat

(B) r (B) Perpendicular

(C) U’ 3R (C) “U’-shaped

(D) (D) Circular

22, IR AN 39 = A9 A A ST AT 22. Fixed cost is also known as :
2

(A) W AR (A) Overhead Cost
(B) dRdd®d ITd (B) Real Cost
(C) HRIY AT (C) Working Cost
(D) SUYa H § I el (D) None of the above
23, THIUIG WG B 39 I AW A W 23. Isoquant is also known as :
ST %
(A) IS AN ah (A) Product indifference curve
(B) IS FH™IGT dsh (B) Poduction possibility curve
(C) H-91™T 9h (C) Iso resource curve
(D) HIFT W (D) Price line

AG-207 (8) Set-A
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24,

25.

26.

A number of isoquants on the same graph

is called :

(A) Product indifference curve
(B) Production possibility curve

Iso-resource curve

(©)
(D)

Iso-quant map

MRTS, ,, isgivenby:

AX,

™ 5

AX,

®

C) AX,.AX

(D) AX, +AX

Which of the following statements is true

with reference to isoquant ?

(A)

It is convex to origin

(B)

They do not intersect to each other

indicates MRTS of two

(C) Slope

resources
(D) All of the above

Set-A



27.

28.

29.

30.
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28.

29.

30.

The Ep is zero when :
(A)  APP is maximum
(B) MPP is maximum
(C) MPP is zero

(D) APP s zero

Isoquants are linear, when the resources
are :

(A) Substitute
(B) Perfect substitute
(C) Complements

(D) Perfect complements

Which of the following is the basic law of
agriculture ?

(A) Law of diminishing marginal utility
(B) Law of equimarginal utility

(C) Cost principle

(D) Law of increasing return

The short-run average fixed cost curve
IS :

(A) Always downward sloping

(B) Starts at the origin and always

slopes upward

(C) Starts above the origin and always

slopes upward

(D) A horizontal line intersecting the

vertical axis
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31. T4 Bl AN & Hol SR DI A A 31. When total cost is divided by total

AT T ST 2 @) 9% dEerd 2 quantity of production, it is called :
(A) Hd AT (A) Marginal cost

(B) IR AR (B) Average cost

(C) IR IIId (C) Opportunity cost

(D) $dI g AN (D) Sunk cost

32. TP AN 9% Ol “U” & MBR & Hl 32. A curve that can never be “U” shaped is

T8 2 HEar the :

(A) 3T I AR ah (A) AVC curve
(B) HHMId oFTd (B) MC curve
(C) 3T gl NI dh (C) ATC curve
(D) i Rl @RI ash (D) AFC curve

33. 3fIER W Bl AR b §RT I 33. The concept of opportunity cost was

& T ? introduced by :
(A) . 79 i (A) J.S. Mill
(B) . TH. P (B) J. M. Keynes
(C) 3fAbs HId (C) Alfred Marshall
(D) Rare (D) Ricardo

AG-207 (11) Set-A



34, SRl AMd JFTd 9 3N9d oTd 9 Bl

Pledl 8, T 3d dFTd 9% ©
(A) R
(B) dg &l

(C) =LdH
(D) 3ffErHaH

35. 9 @ A Bl I fhar T @

(A) TIHH & BY H
(B) fddcd & wu #
(C) ufoerd & wu
(D) @ IPRE T

36, BII-STAG IS B § IAed Bl

oIra BT IR R

A P
(A) A _ 1
Ay; Py,

Ay,
B) —=
Ay,

(C) Zab

(D) Zb
37. W9 3ied e SdeT 98 W& §

(A) MPP > APP
(B) MPP < APP
(C) MPP =APP
(D) ARHT FHel HIfdd SR
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34.

35.

36.

37.

The MC curve intersects the AC curve,
when the AC curve is :

(A) Falling

(B) Rising

(C) Minimum

(D) Maximum

Elasticity of production is expressed as :

(A) Index
(B) Quintal
(C) Percentage

(D) No units

The summation of elasticity of production
in a Cobb-Douglas production function

results in :

A P
A) A _ P
Ay; Py,

Ay,
B) —=
Ayy

(C) Zab
(D) Zb

When APP is increasing :

(A) MPP > APP
(B) MPP < APP
(C) MPP = APP

(D) TPP is maximum

Set-A



38. W9 3id Wifde SeT Ue I8 © 38. When APP is decreasing :

(A) MPP > APP (A) MPP > APP
(B) MPP<APP (B) MPP < APP
(C) MPP=APP (C) MPP=APP
(D) BT Bl HIfdd SeUrEH (D) TPP is maximum

39. W9 qol HIfd IAGT =0, 3 q wifvd 39 When TPP =0, APPis:

I &

(A) I WA A (A) Less than Zero
(B) e (B) Maximum
(C) dH (C) Minimum
(D) =3 (D) Zero

40. o9 HAHid difdd SAed 98 Y& B B, 40. When MPP is increasing, APP :

ar 3 wHifde Sare BT B

(A) AfHaH (A)  Maximum
(B) 1A (B) Minimum
(C) dedl g (C) Increases
(D) gedl © (D) Decreases

41, SdTCT I~ BT © 41. Production creates :
(A) WY SR (A) Form utility
(B) IM SN (B) Place utility
(C) I SUAAar (C) Time utility
(D) @I YT (D) Possession utility

AG-207 (13) Set-A
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43.

44,

45.
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(A) ©Td Ay

(B) ©IId By

(C) «Id C,

(D) <A B,

JAGT UF B &I & -
(A) °ITd @l
(B) TR®I Bl
(C) @Hd &

(D) & @
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42.

43.

44,

45.

Inputs which increase the output when

combine in fixed proportion are

called :

(A) Complements
(B) Supplements
(C) Substitutes

(D) None of the above

Which of the following is an explicit

cost ?

(A) Fertilizer
(B) Farm family labour
(C) Retained seed

(D) None of the above

Which of the following costs includes
managerial services components ?

(A) Cost Ay

(B) CostB;

(C) CostC,

(D) CostB;

Production is a function of :
(A) Cost

(B) Factors

(C) Price

(D) Profit

Set-A



46. S/ MRPS =0 &, Gl IdE &

(A) WD

(B) ufcrarfy

© T=®

(D) SWH # | B Tl

47. /9 TPP 3ifiad BT €, d MPP @il

g

(A) RHH
(B) APP & &I
©) TI P RK

(D) FUTHS

48. 3iNa Hifte Iared, dHid Hifde Iared

& SRR BT &, 99
(A) Hid Hifde ST 95 W71 8

(B) Wmid Wifid Scred 3ifhan B

(C) 3ia Wifid IcUTe A Bl @

g

(D) 3d Wifde Scred if¥ead BT
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46.

47.

48.

When MRPS = 0, then products are :

(A) Complementary

(B) Competitive

(C) Supplementary

(D) None of the above

When TPP is maximum, MPP is :

(A) Maximum

(B) Equal to APP

(C) Equal to Zero

(D) Negative

APP is equal to MPP, when :

(A) MPP is increasing

(B) MPP is maximum

(C) APP is minimum

(D) APP is maximum

Set-A



49. B Y=a+bX #H Y 3R X & 4= 49. In a function Y =a+bX, relationship

T Y between Y and Xis :
(A) ZRUTHD (A) Negative
(B) YIcHD (B) Positive
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SWE ¥ | FIg el (D) None of the above
50. o9 3Nd Wifdd Saed d¢ e ®, al  50.  When APP is increasing how does the
dmig e U @1 IART Bor 3§ MPP will behave in a production
R g function ?
(A) da difde Saed < OEd (A) MPP > APP
Hiferds Ieures
(B) dia Wifi® Saed > UMW (B) MPP < APP
Hiferdr Ieures
(C) JMd Hifi®d Sded = ama (C) MPP = APP
difere eures
(D) SUYa H H IS Tl (D) None of the above
51. od Rigrd & AR, 3HDIc ¥ gahel 51. As per the cost principle, in short-run
aT T A aTmIRd e gross return must cover :
(2T :
(A) Il AT (A) Fixed Cost
(B) 3IEN INTd (B) Opportunity Cost
(C) SR arTd (C) Variable Cost
(D) el oTd (D) Total Cost

AG-207 (16) Set-A



52. ®od Y=d+bX H YT: 52. Inafunction, Y =d +bX,Y is:

(A) wWdd = (A) Independent variable
(B) M3 =R (B) Dependent variable
(C) aHI (A) R (B) (C) Both (A) and (B)

(D) SWE ¥ | FIg el (D) None of the above

53. WY IQ & FaW H IcUIed Rl 53. In case of joint product, the production

as% BT & : possibility curve is :
(B) Secl “L” 3R (B) Inverted ‘L’ shaped
(C) IR (C) Concave

(D) ‘U’ 3 55 Q (D) cUa Shaped

54. 3IAET Bold Il § g9-fawse ﬁg 'Fy 54. At the break-even point in production

function programme, the profit to the

fepoTeT T o B &
farmer is :
(A) I (A)  Zero
(B) FUIHE (B) Negative
(C) EFTHD (C) Positive
(D) SUYa H A Bl 7l (D) None of the above

AG-207 (17) Set-A



55. ofd B W T fow ARy ST 55. When a new crop Vvariety is

¥ introduced on a farm :

(A) T §9IC T AMRY (A) Full budgeting is must
(B) 373 doic §91+1 A1RY (B) Partial budgeting is done
(C) doIC P IR el 2 (C) No budgeting is needed
(D) @aa Ao fovar ST 8 (D) Only planning is done

56. f=IfoiRed § ¥ oF-91 Wl &7 YbR 981 56.  Which of the following is not a type of

37 farming ?

(A) T Tl (A) Dry farming
(B) wgad &l (B) Joint farming
(C) TRIE Wil (C) Ranching
(D) fafdra @ (D) Mixed farming

57. fa=foRed § ¥ o= Y& 999 @1 57. Which of the following is assumption of

far & 2 liner programming model ?
(A) A= (A) Divisibility

(B) ANTeraT (B) Additivity

(C) ERIa (C) Linearity

(D) Sugad FI (D) All of the above

AG-207 (18) Set-A



58.

59.

60.
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58.

59.

60.

Natural resources are often classified

into :

(A) Renewable resources

(B) Non-renewable resources

(C) Both (A) and (B)
(D) None of the above

Which of the following is not a system of

farming ?

(A) State farming

(B) Cooperative farming

(C) Joint farming

(D) Dry farming

A state of being doubtful about future

events which cannot be foreseen exactly

is known :

(A) Risk

(B) Differential risk

(C) Uncertainty

(D) None of the above

Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.
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